Magnitude 6, Dip = 20deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Magnitude 6, Dip = 30deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Magnitude 6, Dip = 45deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec

PSA (@)

Residuals (In)

Depth (km)

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Magnitude 6, Dip = 60deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec

PSA (@)

Residuals (In)

Depth (km)

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 70deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 20deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 30deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 45deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 60deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 70deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7, Dip = 20deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7, Dip = 30deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec
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Magnitude 7, Dip = 45deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7, Dip = 60deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec
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Magnitude 7, Dip = 70deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.1sec

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Magnitude 7.5, Dip = 20deg ,Length = 100km, zTor =

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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0 km, Rake = 90 deg, Period = 0.1se¢



Magnitude 7.5, Dip = 30deg ,Length = 100km, zTor =

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

0 km, Rake = 90 deg, Period = 0.1se¢
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.5, Dip = 45deg ,Length = 126km, zTor = 0 km, Rake = 90 deg, Period = 0.1se¢
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Magnitude 7.5, Dip = 60deg ,Length = 150km, zTor = 0 km, Rake = 90 deg, Period = 0.1se¢

PSA (@)

Residuals (In)

Depth (km)

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.5, Dip = 70deg ,Length = 100km, zTor = 0 km, Rake = 90 deg, Period = 0.1se¢
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.8, Dip = 45deg ,Length = 180km, zTor = 0 km, Rake = 90 deg, Period = 0.1se¢
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.8, Dip = 60deg ,Length = 200km, zTor = 0 km, Rake = 90 deg, Period = 0.1se¢
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Magnitude 6, Dip = 20deg ,Length = 10km, zTor = 5 km, Rake = 90 deg, Period = 0.1sec

PSA (@)

Residuals (In)

Depth (km)

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Magnitude 6, Dip = 30deg ,Length = 10km, zTor = 5 km, Rake = 90 deg, Period = 0.1sec

PSA (@)

Residuals (In)

Depth (km)

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 45deg ,Length = 10km, zTor = 5 km, Rake = 90 deg, Period = 0.1sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 60deg ,Length = 10km, zTor = 5 km, Rake = 90 deg, Period = 0.1sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 20deg ,Length = 18km, zTor = 5 km, Rake = 90 deg, Period = 0.1sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 30deg ,Length = 18km, zTor = 5 km, Rake = 90 deg, Period = 0.1sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 4bdeg ,Length = 18km, zTor = 5 km, Rake = 90 deg, Period = 0.1sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 60deg ,Length = 18km, zTor = 5 km, Rake = 90 deg, Period = 0.1sec
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Magnitude 6, Dip = 20deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 30deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec
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Magnitude 6, Dip = 45deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Magnitude 6, Dip = 60deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec

PSA (@)

Residuals (In)

Depth (km)

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Magnitude 6, Dip = 70deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec

PSA (@)

Residuals (In)

Depth (km)

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 20deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 30deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec

T I T T T T T T
® Simulation Results
----- Footwall GMPE
m— H\W Model
B Average per Rx
1 ? .............................................................
B
<L
w
o £ O T O S . > (O SO, -G
0.1¢ ®
1 | 1 I I | | 1 |
50 40 30 -20 10 0 10 20 30 40 50
Magnitude 6.5, Dip = 30deg ,zTor = 0 km, Rake = 90 deg, Period = 0.2sec
1 I T T T T T T T T
o 05 [ ......... s . S .. . ST S |
& : ;
= .
§ 0 L TR A A 294 o o
S ol R o o . o o
3 e © @
T .05- :
® HW GMPE
_1 T T | I 1 1 1 1 |
-50 -40 -30 -20 -10 0 10 20 30 40 50
0 T T T T v\
’g _10 s W A o A 5 R W N R A R o W 3 5 s N R 8 R 5 S W M W B R e A VO R R et
=
e
g
O -20F
_30 | | | | I | | | 1
-50 -40 -30 -20 -10 0 10 20 30 40 50

Rx (km)

Appendix C - 37



Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 45deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 60deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 70deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7, Dip = 20deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec
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Magnitude 7, Dip = 30deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7, Dip = 45deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec
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Magnitude 7, Dip = 60deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7, Dip = 70deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.2sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.5, Dip = 20deg ,Length = 100km, zTor = 0 km, Rake = 90 deg, Period = 0.2se¢
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Magnitude 7.5, Dip = 30deg ,Length = 100km, zTor =

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

0 km, Rake = 90 deg, Period = 0.2se¢
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.5, Dip = 45deg ,Length = 126km, zTor = 0 km, Rake = 90 deg, Period = 0.2se¢

T I T T T T T T T
. . L 4
¢ Simulation Results [ PR .
----- Footwall GMPE
— H\W Model
B Average per Rx
1 ? .......................................................
&
<L
w
o I . T N —
0.1
1 | 1 I I | | 1 |
50 40 30 -20 10 0 10 20 30 40 50
Magnitude 7.5, Dip = 45deqg ,zTor = 0 km, Rake = 90 deg, Period = 0.2sec
1 I T T T T T T T T
o 05 [ ......... s . S .. . ST S |
£ : : :
@
o] e o ¢ o o o otogted o,
3 0 ' ® * e * ®
[0} : :
D : :
T .05 : ' i
| ® HWGMPE| :
_1 T T | I 1 1 1 1 |
-50 -40 -30 -20 -10 0 10 20 30 40 50
0 T T T T
’g _10 b S S o N L o LS o o S e o o o e B o s B ot o T et
=
e
3
a -20+ -
-30 | 1 1 1 I i | I I
-50 -40 -30 -20 -10 0 10 20 30 40 50

Rx (km)

Appendix C - 48



Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.5, Dip = 60deg ,Length = 150km, zTor = 0 km, Rake = 90 deg, Period = 0.2se¢
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.5, Dip = 70deg ,Length = 100km, zTor =

0 km, Rake = 90 deg, Period = 0.2se¢
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Magnitude 7.8, Dip = 45deg ,Length = 180km, zTor =

Results

of Model: 0.1 sec, 0.2 sec and 0.5 sec

0 km, Rake = 90 deg, Period = 0.2se¢
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Magnitude 7.8, Dip = 60deg ,Length = 200km, zTor = 0 km, Rake = 90 deg, Period = 0.2se¢

PSA (@)

Residuals (In)

Depth (km)

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 20deg ,Length = 10km, zTor = 5 km, Rake = 90 deg, Period = 0.2sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 30deg ,Length = 10km, zTor = 5 km, Rake = 90 deg, Period = 0.2sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 45deg ,Length = 10km, zTor = 5 km, Rake = 90 deg, Period = 0.2sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 60deg ,Length = 10km, zTor = 5 km, Rake = 90 deg, Period = 0.2sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 20deg ,Length = 18km, zTor =

5 km, Rake = 90 deg, Period = 0.2sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 30deg ,Length = 18km, zTor = 5 km, Rake = 90 deg, Period = 0.2sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

5 km, Rake = 90 deg, Period = 0.2sec

Magnitude 6.5, Dip = 45deg ,Length = 18km, zTor =

PSA (@)
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 60deg ,Length = 18km, zTor = 5 km, Rake = 90 deg, Period = 0.2sec
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Magnitude 6, Dip = 20deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec

PSA (@)

Residuals (In)

Depth (km)

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Rx (km)
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 30deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 45deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 60deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 70deg ,Length = 10km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 20deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 30deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 4bdeg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 60deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 70deg ,Length = 18km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7, Dip = 20deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7, Dip = 30deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7, Dip = 45deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec

T I T T T T T T T
® Simulation Results
----- Footwall GMPE
— H\W Model
B Average per Rx
1 ? ..........................................................
B
<L
w
o 8 e e B NS ON
0.1¢
1 | 1 I I | | 1 |
50 40 30 -20 10 0 10 20 30 40 50
Magnitude 7, Dip = 45deg ,zTor = 0 km, Rake = 90 deg,. Period = 0.5sec
1 T T T T T T T T T
o 05 N TN S SO . S .. . ST S |
£ .
@ e o o e e o ® *
8 9 g_o+._... +* ° ® 4 @ S
k=) @
7] ®
D
T .05- : , 4
» HW GMPE |
_1 T T | I 1 1 1 1 |
-50 -40 -30 -20 -10 0 10 20 30 40 50
0 T T T T
’g _10 b S S o N L o LS o o S e o o o e B o s B ot o T et
=
e
g
a -20+ -
-30 | 1 1 1 I i | I I
-50 -40 -30 -20 -10 0 10 20 30 40 50

Rx (km)

Appendix C - 73



Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7, Dip = 60deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec
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Magnitude 7, Dip = 70deg ,Length = 40km, zTor = 0 km, Rake = 90 deg, Period = 0.5sec

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.5, Dip = 20deg ,Length = 100km, zTor = 0 km, Rake = 90 deg, Period = 0.5se¢
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.5, Dip = 30deg ,Length = 100km, zTor = 0 km, Rake = 90 deg, Period = 0.5se¢
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Magnitude 7.5, Dip = 45deg ,Length = 126km, zTor =

Results of Model: 0.1 sec, 0.2 sec and 0.5 sec
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0 km, Rake = 90 deg, Period = 0.5se¢



Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.5, Dip = 60deg ,Length = 150km, zTor =

0 km, Rake = 90 deg, Period = 0.5se¢
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.5, Dip = 70deg ,Length = 100km, zTor = 0 km, Rake = 90 deg, Period = 0.5se¢
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.8, Dip = 45deg ,Length = 180km, zTor = 0 km, Rake = 90 deg, Period = 0.5se¢
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 7.8, Dip = 60deg ,Length = 200km, zTor = 0 km, Rake = 90 deg, Period = 0.5se¢

Appendix C - 82
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 20deg ,Length = 10km, zTor = 5 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 30deg ,Length = 10km, zTor = 5 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 45deg ,Length = 10km, zTor = 5 km, Rake = 90 deg, Period = 0.5sec
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----- Footwall GMPE
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6, Dip = 60deg ,Length = 10km, zTor = 5 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 20deg ,Length = 18km, zTor = 5 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 30deg ,Length = 18km, zTor = 5 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 45deg ,Length = 18km, zTor = 5 km, Rake = 90 deg, Period = 0.5sec
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Results of Model: 0.1 sec, 0.2 sec and 0.5 sec

Magnitude 6.5, Dip = 60deg ,Length = 18km, zTor = 5 km, Rake = 90 deg, Period = 0.5sec
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----- Footwall GMPE
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